[ Efficiency vs vertpos |

~0.02
.018

EiANRERNRERR R RN RN RN LN R

i

4

1

10 0
TP vertr (cr%)

2

—=— DQM_CKF_TT_retrain

Efficien —— DQM_mKFit_TT_retrain

~ 0.05

Boeh
%) . . . . .
Z0.04F------ AR R i P
3 : : : : :
s SRS ILE S
S : : : :

EO0.03F it e
o : : : :

R A I pr S
0015 - {
[

0.01F-----
0.005F -+

Ratio

[ Efficiency vs. sim PV z |

TP vert z (cm)

~ 0.05
>
80.045
=
=0.04
%.035
ey
20.03
@
8.025
(]

0.02
0.015

0.01

0.005

10

Ratio

1

Sim. PV z (cm)

20 30




	Contents
	Page 1


